

## OSCILLATIONS OF NEUTRAL DELAY DIFFERENTIAL EQUATIONS

BY

G. LADAS AND Y. G. SFICAS

ABSTRACT. The oscillatory behavior of the solutions of the neutral delay differential equation

$$\frac{d}{dt}[x(t) - px(t - \tau)] + Q(t)x(t - \sigma) = 0, t \geq t_0,$$

where  $p$ ,  $\tau$ , and  $\sigma$  are positive constants and  $Q \in C([t_0, \infty), \mathbb{R}^+)$ , are studied.

**1. Introduction.** A neutral delay differential equation (NDDE for short) is a differential equation in which the highest order derivative of the unknown function appears with the argument  $t$  (present state) as well as one or more delayed arguments (past histories). See Driver [3] and [4], Bellman and Cooke [2], and Hale [5] for questions of existence, uniqueness, and continuous dependence. In general the theory of NDDEs presents extra complications and basic results which are true for delay differential equations are not true for neutral equations. For example Snow [16] has shown that even though the characteristic roots of a NDDE may all have negative real parts, it is possible for some solutions to be unbounded.

In this paper we deal with the oscillatory behavior of the solutions of linear NDDEs of the form

$$(1) \quad \frac{d}{dt}[x(t) - px(t - \tau)] + Q(t)x(t - \sigma) = 0, t \geq t_0$$

where  $p$ ,  $\tau$ , and  $\sigma$  are positive constants and  $Q \in C([t_0, \infty), \mathbb{R})$ . Let  $\phi \in C[[t_0 - m, t_0], \mathbb{R}]$  where  $m = \max\{\tau, \sigma\}$ . By a *solution of Eq. (1) with initial function  $\phi$  at  $t_0$*  we mean a function  $x \in C[[t_0 - m, \infty), \mathbb{R}]$  such that  $x(t) = \phi(t)$  for  $t_0 - m \leq t \leq t_0$ ,  $x(t) - px(t - \tau)$  is continuously differentiable for  $t \geq t_0$ , and  $x$  satisfies the equation

$$\frac{d}{dt}[x(t) - px(t - \tau)] + Q(t)x(t - \sigma) = 0 \text{ for } t \geq t_0.$$

Using the method of steps, it follows that for any continuous initial function  $\phi$  there exists a unique solution of Eq. (1) valid for  $t \geq t_0$ .

---

Received by the editors November 20, 1984, and, in revised form, August 29, 1985.

AMS Subject Classification (1980): Primary 34K15; Secondary 34C10.

© Canadian Mathematical Society 1985.

As is customary, a solution of Eq. (1) is called *oscillatory* if it has arbitrarily large zeros and *nonoscillatory* if it is eventually positive or negative. Although the oscillation theory of delay differential equations has been extensively developed during the past few years (see, for example, [1], [6] and [8]-[15] and the references cited therein), there is hardly any theory, at this time, dealing with the oscillatory behavior of NDDEs. [For some results about second order nonlinear neutral equations and for  $\mu$ -like continuous functions see [17] and [7] respectively.]

**2. Constant Coefficients.** Consider the NDDE

$$(2) \quad \frac{d}{dt}[x(t) - px(t - \tau)] + qx(t - \sigma) = 0, t \geq t_0$$

where  $p, q, \tau,$  and  $\sigma$  are positive constants. The characteristic equation of Eq. (2) is

$$(3) \quad F(\lambda) \equiv \lambda - p\lambda e^{-\lambda\tau} + qe^{-\lambda\sigma} = 0.$$

Observe the following:

( $\alpha$ ) For  $p \leq 1, F(\lambda) = \lambda(1 - pe^{-\lambda\tau}) + qe^{-\lambda\sigma} > 0$  for  $\lambda \geq 0$ .

( $\beta$ ) For  $p = 1, F(\lambda) = -\lambda(e^{-\lambda\tau} - 1) + qe^{-\lambda\sigma} > 0$  for  $\lambda \leq 0$ .

( $\gamma$ ) For  $p > 0$  and  $q\sigma e > 1, F(\lambda) = (\lambda + qe^{-\lambda\sigma}) - p\lambda e^{-\lambda\tau}$

$$\geq \frac{\ln(q\sigma e)}{\sigma} - p\lambda e^{-\lambda\tau} > 0 \text{ for } \lambda \leq 0.$$

Motivated by the above observations we established the following results.

**THEOREM 1.** *Assume  $p < 1,$  Then every nonoscillatory solution of Eq. (2) tends to zero as  $t \rightarrow \infty$ .*

**THEOREM 2.** *Assume  $p = 1.$  Then every solution of Eq. (2) oscillates.*

**THEOREM 3.** *Assume  $p < 1$  and  $q\sigma e > 1.$  Then every solution of Eq. (2) oscillates.*

Finally, without any motivation from the characteristic equation (3), we establish the following oscillation result.

**THEOREM 4.** *Assume  $p < 1, \sigma > \tau,$  and  $q(\sigma - \tau) > (1 - p)/e.$  Then every solution of Eq. (\*) oscillates.*

As a corollary, the above result gives sufficient conditions for Eq. (3) to have no real roots.

Extensions of these results to equations with the coefficient  $q$  variable are given together with their proofs in Section 3. The proofs of the above Theorems will therefore be omitted.

EXAMPLES. 1) The NDDE

$$(4) \quad \frac{d}{dt} \left[ x(t) - \frac{1}{2e} x(t-1) \right] + \frac{1}{2e} x(t-1) = 0, t \geq 0$$

satisfies the hypothesis of Theorem 1 and therefore every solution of Eq. (4) tends to zero as  $t \rightarrow \infty$ . For example,  $x(t) = e^{-t}$  is such a solution. On the other hand, Eq. (4) does not satisfy the hypothesis  $q\sigma e > 1$  of Theorem 3. Therefore it is not surprising that Eq. (4) has nonoscillatory solutions, for example,  $x(t) = e^{-t}$ .

2) The NDDE

$$\frac{d}{dt} [x(t) - (1+e)x(t-1)] + x(t-1) = 0, t \geq 0$$

does not satisfy the hypothesis of any of the Theorems 1–4. Therefore, it is not surprising that it has a solution namely,  $x(t) = e^t$ , which is nonoscillatory and does not approach zero as  $t \rightarrow \infty$ . Examples 1 and 2 demonstrate that if either of the hypotheses of Theorem 3 fails, the conclusion may fail too.

3) The NDDE

$$(5) \quad \frac{d}{dt} \left[ x(t) - \frac{1}{2} x(t-\pi) \right] + \frac{3}{2} x\left(t - \frac{\pi}{2}\right) = 0$$

satisfies the hypotheses of Theorem 3 and so all solutions of Eq. (5) oscillate. For example,  $\sin t$  and  $\cos t$  are oscillatory solutions of Eq. (5). Note, however that the hypotheses of Theorem 4 are not satisfied.

4) The NDDE

$$(6) \quad \frac{d}{dt} [x(t) - px(t-2\pi)] + qx\left(t - \frac{5\pi}{2}\right) = 0$$

with  $q = 1/5\pi e$  and  $p = 1 - 1/5\pi e$  satisfies the hypotheses of Theorem 4 and so all solutions of Eq. (6) oscillate. For example,  $\sin t$  and  $\cos t$  are oscillatory solutions of Eq. (6). Note, however, that the hypotheses of Theorem 3 are not satisfied.

5) The NDDE

$$\frac{d}{dt} [x(t) - x(t-\pi)] + 2x\left(t - \frac{\pi}{2}\right) = 0$$

satisfies the hypotheses of Theorem 2 and so every solution of this equation oscillates. For example,  $\sin t$  and  $\cos t$  are oscillatory solutions.

3. **Variable Coefficients.** Consider the NDDE

$$(7) \quad \frac{d}{dt} [x(t) - px(t-\tau)] + Q(t)x(t-\sigma) = 0, t \geq t_0$$

where  $p$ ,  $\tau$ , and  $\sigma$  are positive constants and  $Q \in C[[t_0, \infty), \mathbb{R}^+]$ . Theorems 5 through 8 below are extensions of Theorems 1 through 4 respectively.

THEOREM 5. *Assume*

$$(8) \quad p < 1$$

and

$$(9) \quad \int_{t_0}^{\infty} Q(s) ds = \infty$$

Then every nonoscillatory solution of Eq. (7) tends to zero as  $t \rightarrow \infty$ .

THEOREM 6. *Assume condition (9) and that*

$$(10) \quad p = 1.$$

Then every solution of Eq. (7) oscillates.

THEOREM 7. *Assume condition (8) and that*

$$(11) \quad \lim_{t \rightarrow \infty} \int_{t-\sigma}^t Q(s) ds > \frac{1}{e}.$$

Then every solution of Eq. (7) oscillates.

THEOREM 8. *Assume condition (8),  $\sigma > \tau$ ,  $Q$  is  $\tau$ -periodic, and that*

$$(12) \quad \lim_{t \rightarrow \infty} \int_{t-(\sigma-\tau)}^t Q(s) ds > \frac{1-p}{e}.$$

Then every solution of Eq. (7) oscillates.

The following Lemma will be useful in the proofs of the Theorems.

LEMMA 1. *Let  $f, g: [t_0, \infty) \rightarrow \mathbb{R}$  be such that*

$$(13) \quad f(t) = g(t) - pg(t-c), \quad t \geq t_0.$$

Assume  $p$  and  $c$  are constants with  $0 < p \leq 1$ ,  $g$  is bounded on  $[t_0, \infty)$ , and  $\lim_{t \rightarrow \infty} f(t) \equiv l$  exists. Then the following statements hold:

(i)  $p = 1$  implies  $l = 0$ ;

(ii)  $p < 1$  implies  $\lim_{t \rightarrow \infty} g(t)$  exists.

PROOF: Let  $\{t_n\}$  and  $\{t'_n\}$  be sequences of points in  $[t_0, \infty)$  which converge to  $\infty$  as  $n \rightarrow \infty$  and such that

$$\lim_{n \rightarrow \infty} g(t_n) = \overline{\lim}_{t \rightarrow \infty} g(t) \equiv s$$

and

$$\lim_{n \rightarrow \infty} g(t'_n) = \lim_{t \rightarrow \infty} g(t) \equiv i.$$

From (13),

$$g(t_n - c) = \frac{g(t_n) - f(t_n)}{p}, n = 1, 2, \dots$$

and taking limits as  $n \rightarrow \infty$  we obtain

$$s \geq \lim_{n \rightarrow \infty} g(t_n - c) = \frac{s - l}{p}$$

or  $l \geq s(1 - p)$ . In a similar way we find  $l \leq i(1 - p)$ . When  $p = 1$ , clearly  $l = 0$  and (i) is proved. When  $p < 1$ ,

$$s \leq \frac{l}{1 - p} \leq i$$

from which it follows that  $s = i$  and (ii) is proved. The proof of the Lemma is complete.

PROOF OF THEOREM 5. Since the negative of a solution of Eq. (7) is also a solution, it suffices to show that every eventually positive solution  $x(t)$  of Eq. (7) tends to zero as  $t \rightarrow \infty$ . First, we will prove that every eventually positive solution  $x(t)$  of Eq. (7) is bounded. Set  $z(t) = x(t) - px(t - \tau)$ . Then, from Eq. (7),  $z'(t) = -Q(t)x(t - \sigma) \leq 0$  which implies that  $z(t)$  is eventually decreasing and so in particular  $z(t) < x(t - \sigma)$ . Using this in Eq. (7) we find  $z'(t) + Q(t)z(t) \leq 0$  for  $t$  sufficiently large, say,  $t \geq t_2 \geq t_1$ . Then

$$\frac{d}{dt} \left[ z(t)e^{\int_{t_2}^t Q(s)ds} \right] \leq 0, t \geq t_2$$

and so

$$z(t)e^{\int_{t_2}^t Q(s)ds} \leq z(t_2), t \geq t_2.$$

Let  $B = \max \{z(t_2), 0\}$ . Then for  $t \geq t_2$

$$(14) \quad x(t) \leq px(t - \tau) + B \exp\left(-\int_{t_2}^t Q(s)ds\right).$$

Assume, for the sake of contradiction, that  $x(t)$  is not bounded. Then, there exists a sequence  $\{t_n\}$  such that

$$\lim_{n \rightarrow \infty} t_n = \infty, \lim_{n \rightarrow \infty} x(t_n) = \infty \text{ and } x(t_n) = \max_{t_2 \leq s \leq t_n} x(s).$$

From (14), for  $n$  sufficiently large, we then obtain

$$x(t_n) < px(t - \tau) + B \exp\left(-\int_{t_2}^{t_n} Q(s)ds\right) \leq px(t_n) + B \exp\left(-\int_{t_2}^{t_n} Q(s)ds\right).$$

Hence

$$x(t_n) < \frac{B}{1-p} \exp\left(-\int_{t_2}^{t_n} Q(s) ds\right)$$

which as  $n \rightarrow \infty$  leads to a contradiction. This establishes our claim that  $x(t)$  is bounded. Applying Lemma 1(ii) with  $f(t) = z(t)$ ,  $g(t) = x(t)$ , and  $c = \tau$  we obtain the conclusion that  $\lim_{t \rightarrow \infty} x(t)$  exists. Since  $x(t) > 0$  this limit, call it  $L$ , is nonnegative.

Assume, for sake of contradiction, that  $L > 0$ . Then, from Eq. (7)

$$\frac{d}{dt} [x(t) - px(t - \tau)] + Q(t) \frac{L}{2} \leq 0$$

for  $t$  sufficiently large, say,  $t \geq t_3 \geq t_2$ . Integrating from  $t_3$  to  $t$  we obtain

$$(15) \quad [x(t) - px(t - \tau)] + \frac{L}{2} \int_{t_3}^t Q(s) ds \leq [x(t_3) - px(t_3 - \tau)].$$

Since  $x(t)$  is bounded and since, in view of (9), the integral in (15) diverges to  $\infty$  as  $t \rightarrow \infty$ , it follows that (15) leads to a contradiction as  $t \rightarrow \infty$ . The proof of Theorem 5 is complete.

PROOF OF THEOREM 6. Assume, for the sake of contradiction, that Eq. (7) has an eventually positive solution  $x(t)$ . Set  $z(t) = x(t) - x(t - \tau)$ . It follows from Eq. (7) that  $z(t)$  is eventually decreasing. Since  $z(t)$  cannot be eventually identically zero, it follows that either  $z(t)$  is eventually negative or  $z(t)$  is eventually positive. If  $z(t)$  were eventually negative then  $x(t)$  would be bounded and from Lemma 1(i),  $\lim_{t \rightarrow \infty} z(t) = 0$ . This implies that  $z(t)$  is eventually positive. Thus

$$(16) \quad x(t) - x(t - \tau) > 0$$

for  $t$  sufficiently large, say,  $t \geq t_1 \geq t_0$ . Integrating Eq. (7) from  $t_1$  to  $t$  we find

$$[x(t) - x(t - \tau)] - [x(t_1) - x(t_1 - \tau)] + \int_{t_1}^t Q(s)x(s - \sigma) ds = 0$$

which implies that

$$(17) \quad \int_{t_1}^t Q(s)x(s - \sigma) ds \leq x(t_1), \quad t \geq t_1.$$

Let  $m = \min x(s - \sigma)$  for  $t_1 \leq s \leq t_1 + \tau$ . Then, in view of (16),  $x(s - \sigma) \geq m$  for  $s \geq t_1$  and (17) implies that

$$m \int_{t_1}^t Q(s) ds \leq x(t_1), \quad t \geq t_1$$

which as  $t \rightarrow \infty$  contradicts (9). The proof of Theorem 6 is complete.

PROOF OF THEOREM 7. Assume, for the sake of contradiction, that Eq. (7) has an eventually positive solution  $x(t)$ . By Theorem 5, it follows that  $\lim_{t \rightarrow \infty} x(t) = 0$ . Set  $z(t) = x(t) - px(t - \tau)$ . Then  $z(t)$  decreases to zero and, in view of (11)  $z(t)$  cannot be eventually identically zero which implies that eventually

$$(18) \quad z(t) > 0.$$

But  $z(t) < x(t)$  and Eq. (7) implies that eventually

$$(19) \quad z'(t) + Q(t)z(t - \sigma) < 0.$$

From [11] and [8] we know that condition (11) implies that (19) cannot have an eventually positive solution. This contradicts (18) and completes the proof of the theorem.

PROOF OF THEOREM 8. Let  $x(t)$  and  $z(t)$  as in the proof of Theorem 7 and set  $w(t) = z(t) - pz(t - \tau)$ . Since  $Q$  is  $\tau$ -periodic, it is easily seen that  $z$  and  $w$  are continuously differentiable solutions of Eq. (7). We have  $z'(t) = -Q(t)x(t - \sigma)$  and  $w'(t) = -Q(t)z(t - \sigma)$ . Now using the fact that  $x(t)$  tends to zero as  $t \rightarrow \infty$ , it follows that each of  $z$  and  $w$  is nonincreasing and tends to zero as  $t \rightarrow \infty$ . It then follows that eventually

$$(20) \quad w(t) > 0.$$

Furthermore,  $w'(t - \tau) = -Q(t - \tau)z(t - \tau - \sigma) = -Q(t)z(t - \tau - \sigma) \leq -Q(t)z(t - \sigma) = w'(t)$ . Then from the equation

$$w'(t) - pw'(t - \tau) + Q(t)w(t - \sigma) = 0$$

we obtain the delay inequality

$$w'(t - \tau) - pw'(t - \tau) + Q(t)w(t - \sigma) \leq 0$$

or

$$w'(t) + \frac{1}{1-p} Q(t)w[t - (\sigma - \tau)] \leq 0.$$

But in view of (12), see [11] and [8], the last inequality cannot have an eventually positive solution. This contradicts (20) and the proof is complete.

#### REFERENCES

1. O. Arino, I. Györi and A. Jawhari, *Oscillation Criteria in Delay Equations*, J. Differential Equations (1984).
2. R. Bellman and K. L. Cooke, "Differential-Difference Equations," Academic Press, New York, 1963.
3. R. D. Driver, *A Mixed Neutral System*, Nonlinear Analysis, Theory, Methods and Applications 8 (1984), 155–158.
4. R. D. Driver, *Existence and Continuous Dependence of Solutions of a Neutral Functional-Differential*

*Equation*, Arch. Rational Mech. Anal. **19** (1985), 149–166.

5. J. Hale, *Theory of Functional Differential Equations*, Springer-Verlag, New York, 1977.

6. B. R. Hunt and J. A. Yorke, *When All Solutions of  $x' = -\sum_{i=1}^n q_i(t)x(t - T_i(t))$  Oscillate*, J. Differential Equations **53** (1984), 139–145.

7. G. Karakostas and V. A. Staikos,  *$\mu$ -Like-Continuous Operators and Some Oscillation Results*, University of Ioannina, TR #104, February 1984.

8. R. G. Koplatadze and T. A. Canturia, *On Oscillatory and Monotonic Solutions of First Order Differential Equations with Retarded Arguments*, Differencial'nye Uravnenija **8** (1982), 1463–1465.

9. T. Kusano, *On Even Order Functional Differential Equations with Advanced and Retarded Arguments*, J. Differential Equations **45** (1982), 75–84.

10. G. Ladas, *Sharp Conditions for Oscillations Caused by Delays*, Applicable Anal. **9** (1979), 93–98.

11. G. Ladas and I. P. Stavroulakis, *On Delay Differential Inequalities of First Order*, Funkcial. Ekvac., **25** (1982), 105–113.

12. G. Ladas and I. P. Stavroulakis, *Oscillations Caused by Several Retarded and Advanced Arguments*, J. Differential Equations **44** (1982), 134–152.

13. G. Ladas, Y. G. Sficas and I. P. Stavroulakis, *Necessary and Sufficient Conditions for Oscillations*, Amer. Math. Monthly **90** (1983), 637–640.

14. G. Ladas, Y. G. Sficas and I. P. Stavroulakis, *Functional Differential Inequalities and Equations with Oscillating Coefficients*, Proceedings of the Vth International Conference on "Trends in Theory and Practice of Nonlinear Differential Equations," Marcel Dekker, Inc., 1984.

15. V. N. Sevelo and N. V. Vareh, *Asymptotic Methods in the Theory of Nonlinear Oscillations*, Kiev "Naukova Dumka," 1979 (Russian).

16. W. Snow, *Existence, Uniqueness, and Stability for Nonlinear Differential-Difference Equations in the Neutral Case*, N.Y.U. Courant Inst. Math. Sci. Rep. IMM-NYU 328, (February 1965).

17. A. I. Zahariev and D. D. Bainov, *Oscillating Properties of the Solutions of a Class of Neutral Type Functional Differential Equations*, Bull. Austral. Math. Soc. **22** (1980), 365–372.

DEPARTMENT OF MATHEMATICS  
UNIVERSITY OF RHODE ISLAND  
KINGSTON, RHODE ISLAND 02881

DEPARTMENT OF MATHEMATICS  
UNIVERSITY OF IOANNINA  
IOANNINA 45332, GREECE